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Description

Hello, i have been asked to provide information on the model used to calculate the cross-sectional weighs for the youth surveys in

understanding society - can you help? What variables were used for non-response?

Thanks
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Hi Matthias,

I would recommend checking the following documents online:

https://www.understandingsociety.ac.uk/wp-content/uploads/working-papers/2010-05.pdf

https://www.understandingsociety.ac.uk/wp-content/uploads/working-papers/2024-01.pdf

and an older version of our user guide that includes a more technical description of weight in UKHLS (attached).

If the above doesn’t answer all your questions, please don’t hesitate to ask.

Best wishes,

Piotr Marzec

UKHLS User Support
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